



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{3}{5} + \frac{1}{2}\right)^2 - \frac{2}{3}\left(\frac{3}{5} + \frac{3}{2}\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} - \left(\frac{1}{5} + \frac{1}{4}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{2}{3}\right) \times \frac{2}{3} - \left(\frac{3}{2} + \frac{1}{6}\right)^2 =$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{3} + 3^2 \times \frac{1}{2} =$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 + \frac{1}{3}\left(\frac{3}{5} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{2}{3} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{5} + \frac{3}{4}\right) =$$

$$\left(4 - \frac{1}{6}\right)^2 + \frac{3}{4} - 2^2 + \frac{1}{3} =$$

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{4}\right) \times \frac{3}{5} - \left(\frac{3}{5} - \frac{1}{3}\right)^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{2} \times 2^2 - \frac{1}{2} =$$

$$\left(4 + \frac{3}{5}\right)^2 - \frac{3}{2} - 5^2 - \frac{1}{2} =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{3}{5} + \frac{1}{2}\right)^2 - \frac{2}{3}\left(\frac{3}{5} + \frac{3}{2}\right) = \left(-\frac{19}{100}\right)$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} - \left(\frac{1}{5} + \frac{1}{4}\right)^2 = \frac{469}{400} = 1\frac{69}{400}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{2}{3}\right) \times \frac{2}{3} - \left(\frac{3}{2} + \frac{1}{6}\right)^2 = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{3} + 3^2 \times \frac{1}{2} = \frac{301}{12} = 25\frac{1}{12}$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 + \frac{1}{3}\left(\frac{3}{5} - \left(\frac{1}{3}\right)^2\right) = \frac{2627}{2700}$$

$$\left(\frac{2}{3} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{5} + \frac{3}{4}\right) = \left(-\frac{37}{180}\right)$$

$$\left(4 - \frac{1}{6}\right)^2 + \frac{3}{4} - 2^2 + \frac{1}{3} = \frac{106}{9} = 11\frac{7}{9}$$

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{4}\right) \times \frac{3}{5} - \left(\frac{3}{5} - \frac{1}{3}\right)^2 = \left(-\frac{887}{4500}\right)$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{2} \times 2^2 - \frac{1}{2} = \frac{111}{4} = 27\frac{3}{4}$$

$$\left(4 + \frac{3}{5}\right)^2 - \frac{3}{2} - 5^2 - \frac{1}{2} = \left(-\frac{146}{25}\right) = \left(-5\frac{21}{25}\right)$$